544

-
{
A

N EERGTE (50 Fulcon

Recognized

~

Through-type Terminal Block

v v F_,Pitch 35mm

U
= i | UF2077E-PKCT
E &
Sating ACB00V  250A
AEFE AT 500V 1000MQ LI E
Insulation Resistance | DC500V 1000MQ and over
it & £ 3000V 1 ofEdE
Withstands Voltage |AC3000V 1 minute and over
B S BT 2-300Kcemil
8 Compatible Wire
— %257/ General Tolerance +0.5
’ REE,Scale’4  BALUnit mm‘
)
N
©

37

=

51151 2

37

2

ol. I=h
o

40
34
il

o pcE A | —— [ P

® Ordering Form : Type No.  No. of Poles (P)

o fff Y 2 L A+ L 2 138.8-10.6N-m T,

® Connection : Tightening torque is 8.8—10.6N-m

O IN— RO EEFNEA T a v ) FTOTHTLOBIEET SV,

® A cover and the marking strip are optionally available.

® N —F 7R S S AE OBIIE LS EREIS-CT £ 21 PKTEHFEA (2 & v

® To obtain a cover or a marking strip, and - CT”or“PKT”at the end of the ordering form.

® 71N — N O T (IS A L DB EVE T ERRB I -PKCT EHIFEA T SV I N— RO/ B @A L TIAS L 7,
® To obtain a cover and a marking strip, and “PKCT” at the end of the ordering form. The cover and the marking strip will be delivered separately.
o i | —ikEEEM,

® Application : General industrial.

Wt4% . Specifications.

8% /Part No. % 5/ Part Name # B,/ Material #1& / Standard ~Ti&//Size 08/ Treatment fis %, Remark
1 HEH(A) Base (A) PBT UL94V-0 Bt Black
2 A (B) Base (B) PBT UL94V-0 2 Black
3 FAR (C) Base (C) PBT UL94V-0 B Black
4 BB Terminal $ Copper C1100P WE £3.0 | =u7VAvE NickelPlated
5 FERRE A Screw #  Steel SWCH MI10X1.5X20 ¢ | {7t Trivlentcromate Teament | PW.SW A AR IVE Type)
6 ANAFUr Hexagon nut #  Steel SWCH M10X1.5 {7} Trivlent chromate Teament
7 HAEAR VN Connecting bolt #%  Steel SWCH M4 X0.7X ¢ | =i} Tivdentchromate Treament F N
8 H#AEFvh  Connecting nut #%  Steel SWCH M4 X0.7 {7 Trivlent cromate Treament
9 FLEFEBM  Marking strip | RUA—FRAAN  Polycarbonate UL94V-0 WE 1.0 Hf White *+7ar  Option
10 1 IN— Cover ARH—HRAAF Polycarbonate UL94V-0 WE t1.5 %W Transparence F+7'ar  Option
11 AN=ILBHE A Cover Retaing screw #8i  Brass C2700W Pw‘si},“g Z;\O,\E})ilg 4ype® =9 As% Nickel-Plated F+7'ar  Option
12 AMFvh Hexagon nut #%  Steel SWCH M3 X0.5 {7 Trivlent cromate Treament

51,/ Poles 1P| 2 | 3|4 ]5|6 | 7|89 1011

A 70 | 105 | 140 | 175 | 210 | 245 | 280 | 315 | 350 | 385 | 420
B 54 | 89 | 124 | 159 | 194 | 229 | 264 | 299 | 334 | 369 | 404
C 40 | 75 | 110 | 145 | 180 | 215 | 250 | 285 | 320 | 355 | 390




